Friction
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1. Draw a free-body diagram and calculate the force of friction of a 20.0 kg steel steel block moving a
constant speed on a steel level surface. (Hint use reference tables)

SNLE A0 FNE"T%‘“’ Fa+r(- ?}5 /&z

M=20¥s i E i 2.
SN = (,c:»:ﬂ”,'i: : ¢ R ‘?‘F\ = fm% : F& fS
= O = = Fh — .
ba = Fr=Fi g aeu = S w) )
| Far | S
=05 Tz Ty (v\%, = (L’; Bim 3%\ (,7'° "3) o, 2
2. *A10.0kg box is bemg pulled to the rlght with a force of 20.0 N, while a frictional foréQS 00 N
‘acts on it. ) . =
A. Draw a free-body diagram of all the forces acting oni the box. T
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B. Whatis the néf fdrce acting on the box? (give magnitude with direction)
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'C. Calculate the acceleration of the box? (give magnitude with direction)

D. Calculate the coefficient of friction between the box and the floor.
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